CSci 1302 Assignment 6
Updated March 8 (typos in part F)
Due Wednesday, March 15

Problem 1 (25 points). Prove the following arguments. The domain for all
problems is Z - the set of all integers.

A 1. Vz3yal=y

3y.52 =y

B. 1. Vo.(z #1Ax#0) > 2’ >x
2. yy#1lAy#0

s3z.22> 2

Hint: when introducing the existential quanifier, replace only one occurrence
of the constant by a variable, but not the other:

C. 1. Vz.isDivisible(z,1) A isDivisible(z, z)

.. Jy.isDivisible(y, 33)

S

VeVyax>yVy>aVr=y
2. 7(5>5)

S.9=3

E. 1. VeVyTzx+y==2

sVedzao+x ==z

F. 1. Vz.sPrime(z) ¢ (Vy.isDivisible(z,y) = (y=1Vy =x))
isDivisible(9,3)
3. 3#1A3+#9

o

- isPrime(9)

G. 1. VeIyx>y
Ve Vy.z >y — 22 > y?

s Vz3y.az? > y?

H. 1. 3FzVy.isDivisible(y,x)

.. Vz.Jw.isDivisible(z,w)



